4 = iy 5 #z (No.1)
VAN 4@
(ﬁ%\%ﬁ) ( EN/T;%) ? il;/\“ﬂ/%”) (ﬁ E/\“/IELIJ) (% llq/f\“/l/*?) AL e b {5
(AR /N2 RK BR EUE ]
Hek Mg 1E 9 T
E¥+T
PRAE D T m’ 71
B L BRMLER U ImPd b AmASTs | 100
FLTH R A m” 14
Pek Mg 1E ) T

EEAR Y =F L 4 | ¢ 1100, F30, B4 n 35
VP& ¢ 40 m 4

N ¢ 100 m 2

N ¢ 250 m 2
45° LR ¢ 40 1 1
1=Kt 5 1
1-2 54 K W 5% 1
295 Skt 5 1
a7 U—h 18N/mm2 A | m 48
e RC-40 m’ 40
B i D6, 150 X 150 m’ 69
T S A SR B A D13 kg 205




8 = iy 5 #z (No.2)
VAN 4@
(ﬁ%\%ﬁ) ( EN/T;%) ? il;/\“ﬂ/%”) (ﬁ E/\“/IELIJ) (% llq/f\“/l/*?) AL e b {5
WET
kT
e ¢ 40 m 4
fa K 32A m 14
ary sz U— MEUEL | m’ 30
" 781 m’ 18
R Coik, HEff m’ 30
Coi, Bk fH m’ 18
G
FEan
b7 ES 5X 20 m” 139
I 4X8 m’ 3
IR E - fitE m 106




HOKEBEMT {EETT

R HER L
R A R A I RHR BN ImLL - AmA i (]
(m) Wr m 8 = Wom F ¥ &

NO. 0 + 0.000 — 0. 45 — — 0. 00 — —
NO. O + 6.288 6. 288 0. 49 0. 47 3.0 0. 00 0. 000 0.00
NO. 0 + 6.288 0. 000 4. 08 2. 28 0.0 5. 66 2. 830 0. 00
NO. 0 7.888 1. 600 4. 08 4. 08 6.5 5. 66 5. 660 9. 06
NO. O 7. 888 0. 000 4. 08 4. 08 0.0 4.56 5.110 0. 00
NO. 0 + 9.688 1. 800 4. 08 4. 08 7.3 4.56 4. 560 8.21
NO. 0 + 9.688 0. 000 4.08 4. 08 0.0 5. 66 5.110 0. 00
NO. 0 11.288 | 1.600 4. 08 4. 08 6.5 5. 66 5. 660 9. 06
NO. O 11.288 | 0.000 0.49 2.29 0.0 0.00 2. 830 0. 00
NO. 1 1. 100 9. 812 0. 44 0. 47 4.6 0. 00 0. 000 0.00
NO. 1 1.100 0. 000 3. 93 2.19 0.0 5. 65 2.825 0. 00
NO. 1 2.700 1. 600 3.93 3.93 6.3 5.65 2. 825 4.52
NO. 1 2.700 0. 000 3. 93 3. 93 0.0 4.56 5. 105 0. 00
NO. 1 4. 500 1. 800 3.93 3.93 7.1 4.56 5. 105 9.19
NO. 1 4.500 0. 000 3. 93 3. 93 0.0 5. 65 5. 105 0. 00
NO. 1 6. 100 1. 600 3.93 3.93 6.3 5.65 5. 105 8. 17
NO. 1 6.100 0. 000 0. 44 2.18 0.0 0. 00 2. 825 0.00
NO. 1 16.901 | 10.801 0.44 0.44 4.8 0. 00 2. 825 30.51
NO. 1 16.901 | 0.000 4.92 2.68 0.0 6.74 3.370 0.00

/hEE 36. 901 52.4 78. 72




HOKEBEMT {EETT

RIE D HEL
i B At +wp B R FEHE ImPA | AmAii i
(m) Wr m | ¥ B\ W om YW MR
NO. 1 + 16.901 — 4.92 — — 6. 74 — —
NO. 1 + 18.536| 1.635 4.92 4. 92 8.0 6. 74 6. 740 11. 02
NO. 1 + 18.536 0. 000 4.92 4.92 0.0 4.72 5.730 0. 00
NO. 2 + 0.750 2.214 4.92 4. 92 10.9 4.72 4.720 10. 45
A 2 m m3 m3
= =]
40. 750 71.3 100. 2




HEKAEIE) T

SRt

@ Bl -
AR/
X a
ARl Bk = Z\, ® =
EERY =F L &
¢ 1100, F30, [E& 7.9+13. 0+14. 0 = 34.9 34.9 m
VP
® 40 2.2+0.5+1. 7 = 4.4 4,
$ 100 0.7+1.7 = 2.4 2.
® 250 1.7 = 1.7 1
_ 40 __$100 6250
48 114 267
240
VPE
@100
VPE
@ 250
45° T )LR
® 40 N=1.0 1.0 {A
1154kt
NO. 0+8. 7T N=1.0 1.0 X
1-2- 542Kt
NO. 1+3. 6fF3T N=1.0 1.0 X
2 S EE Ktk
NO. 2f}3r N=1.0 1.0 X
a7 Y—h
18N/mm2LL I~ THEFEELY = 48.2 48.2 m3
et
RC-40, t=300 TREFEELY = 40.2 40.2 m2
D6, 150 X 150 2.0X (7. 7+12. 8+13. 8) = 68.6 68.6 m2
Fx AR R ER
D13 (7.7X6+12. 8 X6+13. 8 X6) X0.995 = 204.8 204.8 kg




HOKEBEMT {EETT

aryyy—h ]
R B PR 18N/mm2LA 1 RC-40 fisi
(m) | W om ¥ E|Bom ¥ &
NO. 0 + 0.000 — .27 — — .21 — —
NO. 0 + 6.288 | 6.288 .35 1.31 8.2 .19 1. 201 7.55
NO. 0 + 7.888 1. 600 .37 1. 36 2.2 .18 1.185 1.90
NO. 0 + 9.688 — .37 — — .18 — —
NO. 0 + 11.288| 1.600 .37 1.37 2.2 .18 1. 181 1.89
NO. 1 + 1.100 | 9.812 .38 1.38 13.5 .18 1.180  11.58
NO. 1 + 2.700 1. 600 .38 1.38 2.2 .18 1. 178 1.88
NO. 1 + 4.500 — .38 — — .18 — —
NO. 1 + 6.100 1. 600 .39 1.39 2.2 (17 0. 587 0. 94
NO. 1 + 16.901] 10.801 .45 1. 42 15.3 .16 1.167  12.60
NO. 1 + 18.536| 1.635 . 46 1.45 2.4 .15 1. 164 1.90
A 2 m m3 m2
= =}
34.936 48.2 40. 2




1-18 sk i

SEHEE = M OE E NO.
FEER AlmEE
r 1800 ’? 1800
=N 2
$1100 I 77j % V’”& E ‘ : 774577‘
1 2 g
L L OJ 200, ‘ 1400 ‘ 200 La
— 22
L T
ZOU‘ 1400 ‘ZUO ‘ZOU
BRHER)LFLUE g8 gl &
@J 200, ‘ 1400 ‘ 200 L)g OJ 200 ‘ 1400 ‘ 200, L)g
1EHY
% - R Hi = = B {1 =
a7 J—F
18N/mm2L) 1.80X1.80X1.90-1.40X1.40X 1. 45 = 3.314 m3 2.721
(3.14X1.23272/4) X0.20X2
PERE| +0. 60X0. 60 X 0. 25+0. 72X 0. 72X 0. 05 = (.593 m3
T e
— A
ShT|1. 90 X 1. 80 X 4 = 13.680 m2 19. 23
NI | 1. 45X 1. 40 X 4+1. 40 X 1. 40+0. 25 X 0. 60X 4 = 10. 680 m2
Pl (3. 14X 1. 232°2/4) X 4+0. 60 X 0. 60 = 5.126 m2
FNi]
SD345, D16|Ee A% X X v = 120.0
SD345, D13|Ee A% X X v = 33.0
kg 153.0
BWLarrzU—Fk
18N/mm2 L) _F 2.00X2.00X0. 10 = (. 400 m3 0. 400
[m] AP
2.00X0.10X4 = (. 800 m2 0. 80
PRy e
RC-40, t=200 2.00X2. 00 = 4,000 m2 4. 00
TVL—F T
600 X 600, T-14 e 1.0




1-2-8 sk i

SEHEE =
ﬁ AlmEE
1
ez 1|
= -
\ — .
| s
1 I g
A P
1-1 .
3 T
ZUU‘ 1400 ‘200
BWERJIFLUE g g g
OJ 200, ‘ 1400 ‘ 200, L:g
15
% - R 5 B {1 =
a7 J—F
18N/mm2L) 1.80X1.80X1.90-1.40X1.40X 1. 45 = 3.314 m3 2.710
(3. 14X 1. 232°2/4) X0. 20X 2+ (3. 14X 0. 267 2/4) X 0. 20
PERE| +0. 60X0. 60 X 0. 25+0. 72X 0. 72X 0. 05 = (.604 m3
T e
— A
Sh|1. 90 X 1. 80 X 4 = 13.680 m2 19. 12
NI | 1. 45X 1. 40 X 4+1. 40 X 1. 40+0. 25 X 0. 60X 4 = 10. 680 m2
(3.14X1.23272/4) X4+(3.14X0.267 2/4) X2
| +0. 60X0. 60 = 5.238 m2
FNiE]
SD345, D16|EE A% X X v = 121.0
SD345, D13|Ee A% X X v =  36.0
kg 157.0
SIS
18N/mm2 L) _F 2.00X2.00X0. 10 = (. 400 m3 0. 400
[f] AP
2.00X0.10X4 = (. 800 m2 0. 80
TR
RC-40, t=200 2.00X2. 00 = 4,000 m2 4. 00
TVL—F T
600 X 600, T-14 ke 1.0




SEHEE = M OE E NO.
T o o
e [ 1 [ [ ] i || |
g W g
Q: 8 VPQ
%: § ;‘IZU?E
] Kl
i s ol o]
i
1-1 2-2__
EE T
\ \ \ \
ﬁ****r g ﬁ****r g
%%ii @40 [l Ei?%i{ 40
o] Lo Lo Lo
1ESY
% - R Hi = = B =
a7 J—F
18N/mm2L) 2.20X2.20%X1.95-1.80X1.80X 1. 50 = 4.578 m3 3.918
(3.14X1.232°2/4) X0.20+(3. 14X 1. 390 2/4) X 0. 20
PR +(3. 14 X0. 04872/4) X 0. 20+ (3. 14X 0. 12472/4) X 0. 20
+0. 60 X 0. 60 X 0. 25+0. 72X 0. 72X 0. 05
= (.660 m3
T e
— TR
ARG [1. 95X 2. 20X 4 = 17.160 m2 28. 68
NI | 1. 50X 1. 80 X 4+1. 80 X 1. 80+0. 25 X 0. 60X 4 = 14. 640 m2
(3.14X1.23272/4) X2+(3.14X 1. 390 2/4) X 2+(3. 14X 0. 048 2/4
PEpi| +(3.14X0. 12472/4) X 2+0. 60 X 0. 60X 2 = 3.119 m2
FNiE]
SD345, D16|E2 A5 & v = 180.0
SD345, D13|EEAH [ & v = 43.0
kg 223.0
BLarrzU—Fk
18N/mm2 L) _F 2.30%2.40X0. 10 = (. 552 m3 0. 552
[m] AP
2.30X0. 10X 2+2. 40X 0. 10X 2 = (.940 m2 0.94
LR
RC-40, t=200 2.30%2. 40 = 5,520 m2 5. 52
JVL—F T
600 X 600, T-14 ke 1.0




WEEMRETL 4G

@ B
A=/
X an
Al RS = w =
HewE
$ 40 1.8+1.7 = 3.50 3.50 m
B
32A 5.0+5. 0+3.9 = 13.90 13.90 m
a7 ) — MEEEL
R +HEEEELY = 29.80 29.8 m3
ER 40.8X%2.2X%0. 2 = 17.95 18.0 m3
U
Coik
R = 20.8 29.8 m3
ER = 18.0 18.0 m3




HOKEBEMT {EETT

oy U—MEEEL

weooR B At 17 i
(m) Wr m | B &
1-15 587K it
NO. 0 + 6.288 — 2. 08 — —
NO. 0 + 11.288| 5.000 | 2.08  2.08  10.4
1-25 487K
NO. 1 + 1.100 — 2.16 — —
NO. 1 +6.100 | 5.000| 216 2.16  10.8
254Kt
NO. 1+ 16.901| — 2.95 — —
NO. 2 +0.750 | 3.825 | 2.25  2.25 8.6
A = m m3
o 13. 825 29. 8




Rax L %3

u)
@ I
A=A
X 97
AHI 7 TS = EN n =
BRI
5X20, t=25 1.524X6.096 X 15 = 139.35 139.35 m2
4 X8, t=25 1.219X2.438X 1 = 2.97 2.97 m2
R - ik
13.4+13. 0+41. 9+13. 1+24. 5 = 105.90 105.90 m




